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SHMTENAREAE

BT () £ HEH| 5 S B BT ()% ek 5 =z i BT (X) £ HEHR| B X it BT (X) £ e 5 = B BT (X) £ HEHR| 5B ES B
ZHET 48 57 59 116| 7K S HET 201 257 248 505 | AR BT 1 X 301 355 377 732| = HET 74 103 111 214|RE 88 115 122 237
T 24 32 36 68|IRESHT 270 355 332 687|RLET2 X 319 397 392 789| SEBAET 56 65 62 127| R SHET 51 64 76 140
A 39 43 47 90| L& HHET 95 136 160 296| KBTI X 52 44 56 100 | ¥5 TUETRT 33 50 51 101 |75 R ET 37 62 59 121
TEHET 86 90 99 189|$25K ET 23 43 33 76|t %= HHAT 721 1,052 1,071 2,123 |48 1E FFHT 24 31 45 76 |{H 2 2 ET 14 23 26 49
FaERHET 94 104 119 223 | FAHAT 33 36 50 86| T AHT 81 127 116 243 (#8 TUET 91 108 103 211| L B EET 17 18 23 41
REHr 58 54 57 11| HESHT 51 64 65 129 [Fr#BT 89 122 128 250 R ET 261 342 367 709 | & HET 38 48 58 106
B FEET 298 378 388 766 |12 ZET 248 306 271 583|#H—T H 82 100 113 213|487 63 73 68 141 | ZH{RET 63 81 79 160
J\BTHET 13 13 17 30|92 HET 99 138 145 283|# W =T H 104 11 138 249 (e BLHT 113 122 17 239| & HET 33 62 61 123
P9 B BT 20 23 38 61(7KZHET 79 96 104 200|# =T H 99 90 139 229 | & ALET 531 641 582  1,223|%BHET 70 83 101 184
A RET 28 33 41 74|t ERHET 15 26 19 45|EHMT B 167 203 236 439| RS ET 69 89 108 197 | K tE B HT 20 27 49 76
R—&HT 32 31 32 63[AJIFRE 427 487 413 900|ZEHATH 78 102 98 200 [FriEA X 162 181 197 378| [ &HET 37 53 61 114
R_EHE 84 91 91 182|288 —TH 204 253 265 518| K FEX 94 97 17 14| RBEMX 132 170 156 326 | B AHET 48 72 72 144
H=RAET 24 24 29 53|f2 AKX 83 116 111 227|¥TR—THE 227 292 336 628|FEIE MR 160 202 212 414|lLEE—TH 64 75 92 167
BI\YERER 486 543 599 1,142(H) X 5+ 1,828| 2313| 2222 4535(HK=TH 216 266 276 542| B METRRX 74 102 96 198|ILEAZ=TH 92 116 123 239
[iPANES =S 117 123 142 265| FHAEFET 88 130 116 246|FX=TH 193 254 264 518| = ST 191 215 222 437|lLEEB=TH 102 128 128 256
[:IAVES =S 347 423 432 855|Fi B+ EFHET 65 93 90 183[FH AT B 183 294 277 57| FEE—TH 69 90 85 175(ILBEMWMTE 109 115 126 241
I\ R ERHET 219 213 218 431|/]n L HT 21 33 30 63| —TH 153 172 190 362(FEB=TH 138 164 202 366|ILEAERTH 86 132 123 255
$rEET 511 653 665|  1,318| LAaEFET 64 82 78 160(FE =T H 240 330 346 676|335 EHT 103 149 116 265\ILEBAATH 115 152 156 308
FRET 21 18 17 35| FR AR EFET 70 88 84 172| 4t AR AT 98 113 127 240|EME—TH 55 80 80 160[ UMK &t 1,084 1,426 1535 2,961
=odi 14 16 15 31([BHMX § 308 426 398 824\t ZEAE —TH 130 184 222 406| KDEZTH 121 206 193 399| FHREE—TH 146 171 184 355
ERAITX 23 20 25 45|/ 3T 95 118 138 256|dtREFBE _TH 184 248 312 560|KDIE=TH 88 125 123 248| FHREER_TH 98 135 109 244
SRETHT 17 21 34 55 [FAAHT 168 208 207 415| B 5t 3811 4953| 5231 10,184(chEAHIK 5t 2608| 3308 3296 6604 FHRER=TH 151 173 181 354
JBHET 114 122 107 229| % RAAT 210 240 271 517|fESLET 222 265 297 562 | FAET 203 262 251 S13| FRERDTHE 172 209 207 416
FHAHET 458 603 589|  1,192|dt BT 72 85 110 195 (BRI 104 139 143 282( =T 57 79 80 159| FRERATH 142 178 165 343
R 106 92 132 224 | B SRFE SET 15 25 19 44(H3E)IIX 53 66 79 145|% BT 94 117 126 243| FREERATH 166 203 226 429
A2 190 241 244 485K SLHT 26 43 37 80[E4EJIIX 55 78 85 163| AEHET 222 315 336 651| FREE —TH 126 167 148 315
LRI 65 49 76 125|dL &R 69 59 75 134 (48 1157 HT 105 143 152 295 |35 3, BT 34 57 56 13| FREB_-TH 141 179 180 359
R4 193 271 262 533 | ME#H—TH 141 182 182 364 | #1 FHFTET 21 33 39 72| Z ALET 84 108 121 29| FHREB=TH 141 181 194 375
Pl i:b <1~ 373 452 482 934| EEMX 5t 796 960 1,045 2,005|EFHHHX 5 560 724 795 1,519 | &I BT 150 166 177 343 FHREBET B 101 115 136 251
tHER6X 196 232 216 448 | = {RET 123 151 178 329 (= 5K HT 527 71 646 1,357 | & R ET 57 84 94 178| FREBRTH 136 149 152 301
AEXBE-TH 154 166 179 345| EAIRR 9 9 14 23| &= sk T 496 609 589(  1,198|EHHhET 24 39 45 84| FHREABATH 145 173 185 358
HEE2—TH 86 110 105 215|FH X 11 15 16 31 ({2 HEET 48 73 73 146|#FZF—TH 91 114 109 223| FREFBELTH 172 212 242 454
EE-TH 106 106 134 240|FBHEX 9 11 12 23| =K HTHT 76 85 109 194|AFEFZTH 54 73 69 142| FREBE/N\TH 118 126 147 273
EE=TH 99 118 139 257 [iE{LET 40 51 62 113 R FT{RET 48 55 62 MI|AFIE=ZTE 74 97 100 197\ FREBE—TE 112 147 149 296
#m—TH 114 123 124 247 | ERET 28 34 30 64|/\E R HET 54 72 7 143|#F(EFMTH 101 127 120 247\ FREM_TH 147 190 191 381
HH=TH 122 149 182 331|/N1ET 42 50 64 114|/\EHAT 133 166 178 344|HFIFRETH 69 94 89 183| FHREFHIX 5t | 2214| 2708| 2,796 5,504
Hi5—TH 70 85 85 170( LM IBT 41 43 62 105| —1ZHT 67 77 77 154|#F(FATH 69 74 84 158 | +aET 119 130 147 277
EBE-TH 141 197 172 369 | R ARET 32 36 49 85| & ERET 161 189 219 408|#&K—TH 99 138 127 265 | A ET 104 110 117 227
#E—TH 139 139 146 285| = {RHTET 102 139 135 274|REXRTR 389 512 495 1,007 |#KE—TH 61 74 79 153 | FaE AT 97 126 118 244
ZXEZ-TH 101 134 135 269| AR 89 110 114 224|hEKTHX 213 262 250 512| P 5t 1,543| 2,018| 2063 4081|FEH—TH 106 128 122 250
KIE—TH 153 156 194 350| = R ET 67 96 85 181|#FAE R 107 132 127 259 |#&5THT 440 563 512 1,075|®HE=TH 78 83 90 173
KRKIE=TH 100 106 95 201 | SRX § 593 745 821 1,566 —1F# X 226 287 243 530 | F[EET 132 168 174 342|FEM=TH 70 80 88 168
#H—TH 59 70 66 136| = H.ET 154 209 233 42| HIVIEE—TH 76 96 103 199| E4EFHT 337 424 382 806 |35 iREFET 61 79 72 151
B35 -TH 67 74 76 150K 7k BT 77 107 111 218|HSVEHE_TH 124 150 161 311|HEhHET 364 539 503  1,042|FEIREFET 98 116 108 224
B5%5=TH 25 33 35 68 (HAFIX 119 150 178 328|HEVIEHE=TH 77 95 102 197 |48BHBX 5F 1,273| 1,694 1,571 3,265| 76 55 iR EF AT 81 92 96 188
BEX—TH 128 170 185 355|FHE—TH 124 83 139 222|HEVEHEMT B 126 169 152 321 BmERHE—TH 64 77 77 154
BHR=TH 23 13 19 R2(FMHAR-TH 66 75 80 155| BT B 0 0 0 0 EERX 83 81 95 176
BXRATE 101 109 140 249 KK FTX 93 133 128 261(/\BEH R 83 118 121 239 NEEHMX 5t 961| 1,102 1,130 2,232
BXATH 64 77 89 166 |F1FHILX 133 184 174 358|MBHBX 5t 3031| 3858 3778 7,636
BXtTHE 113 130 146 276 | FHHF X 59 74 84 158 NG 28,385| 35,531| 36,509| 72,040
BRINTE 145 198 199 397 | M FHAEMX 51 70 56 126
BEXATH 1 1 4 5|F HmX 211 271 291 562
B2X+TH 28 29 15 4| =KX F 1,087| 1,356| 1474 2830
#HAR—TH 22 25 25 50
HAZTH 91 139 136 275
HAR=TH 138 218 221 439
MEX  § 6,688 7,940 8354| 16,294




O/IEBWHRERIAOM®ER

SHMTENAREAE
BT () £ HEH| 5 S B BT ()% ek 5 = i BT (X) £ HEHR| B £ it BT (X) £ e 5 S B BT (X) £ R ES it

EINE:k 34 38 40 78|/ \ IS ET 146 174 205 3793 R ET 126 167 173 340 NET H [E 45 52 70 122 ([ HAET 46 59 68 127
%)IIFRTR 147 190 214 404| == HT 49 70 69 139 | R ET 230 232 266 498 R ETILiE 28 28 35 63| FAAREFET 23 34 36 70
EJN L) 33 45 49 94| LT 214 268 302 570|&;AFET 299 a4 437 878 NET 1R 105 125 148 273|773— /LB 31 46 40 86
ZE)IIhETR 122 143 159 302| 1 B HT 51 70 74 144|B8%—TH 120 160 146 306[SAINETEYDE 54 68 66 1345 & BT 59 74 87 161
EJNEd i) 32 36 44 80| /@3 & LLIET 50 77 72 149 [3EEF HET 39 63 59 122 ;AT NET S LA R 55 67 65 132| & R ET 45 43 40 83
EJN B 4 4 45 86| — /=SHIX &t 510 659 722 1,381 | BT EAFET 39 70 61 131 ;AT NET O E B 16 23 23 46| T EFET 42 70 7 141
EJNE ) 44 50 45 95 (#RK S HT 93 87 89 176 |7 2 HET 86 125 145 270[AINET P EE 3 3 5 8| L EFHT 105 155 162 317
E)IIFETR 39 39 48 87 [#BRERHET 88 116 123 239|Fi i AT 237 328 346 674|;RIETEL 6 4 6 10| = 3R HET 29 39 43 82
EIK R ETTR 48 61 51 12|88k ABT—TH 32 39 42 81|BAXIETH 224 297 304 601 ;AT NET AR 20 22 39 61| FTHE 20 19 28 47
FE)IIKAETER 27 26 34 60|E5RART—TH 32 32 43 T5(BBX=TH 109 130 131 261|;RIETIR £ 9 8 12 20| LHEE 21 28 28 56
EJNE i) 35 25 47 T2|ESRABT=TH 39 53 73 126 |&05 3 HT 198 280 298 578 | NETR 2 15 17 16 33| Bl =BT 58 70 81 151
EISHR 149 181 216 397|E5RABTM T B 201 240 250 4905 & HT 169 228 242 470 AT BT £/ 6 5 3 8|5l = AT 14 20 18 38
%I #=ERT G 48 40 57 97 (#&kE A ET 166 180 200 380|5RE—TH 93 153 145 298| NET T T 4 3 1 EZ 3 45 46 39 85
EINE:ES: 70 92 92 184 |§EEFIRET 105 108 122 230|5RE-TH 56 70 72 142|AINET N E 20 19 19 38| #FEKET 26 25 33 58
EJNIPE g 91 98 13 PARNE: B 32 35 38 73| ZAERET 108 149 152 301 A NETHRE 18 20 21 41| EET 13 15 19 34
E)IEATR 106 132 133 265|852 T AT 27 31 37 68 | ZAEFHTAT 79 94 97 1915TAMIE 5t 404 464 529 993 | L FEET 14 9 1 20
EJNEN:IFi) 36 39 49 88|#BRHEE 37 49 45 94| &8 A E BT 107 122 114 236| THEF 69 87 89 176 ="V #28T 4 4 3 7
EJIEIN:IES 85 77 90 167 |E& SR &N<F BT 172 200 227 427| B FHE 343 421 428 849| L HE 95 88 108 196 | $UAE AT 3 3 1 4
)11 F0;RETEE 194 267 271 538 | &8k S BT 82 90 17 207 | &R A ERT 35 41 36 77| D4R 55 73 72 145 | o] BT 7 4 6 10
EJNEakaE 256 261 310 571 [#83RK P HET 33 35 40 75| M 5t 2697 3571| 3652 7223|tER 21 29 29 58| E+AHET 0 0 0 0
=X 5t 1,637| 1,881| 2,107 3,988 | #&k X E AT 200 238 240 478 A R AT 179 255 279 534| KF9E 11 2 9 11 (40 R BT 2 2 0 2
REAT 316 41 441 852|Ek K E FaHT 127 195 198 393|F COIAT 144 182 214 396 |#Ei% 32 23 31 54 |5t AT 0 0 0 0
FHRHT 297 343 350 693(#5RKFET=TH 9 9 12 21| K¥rET 72 95 93 188|HE 37 45 45 90 |#8 ;AT 22 29 44 73
HEET 43 58 59 17|#8RKFET=TH 66 81 90 171 |BE: A SHT 23 27 33 60| FK:& 19 24 31 55|25 7KAT 43 49 56 105
RIEAT 51 81 70 151|#8R/K FRTM T B 33 36 38 74|1THT 75 116 121 237| L K& 23 25 26 51| T&AHET 62 76 88 164
FEKSEET 147 207 207 414|852k A HHET 30 41 43 84| ch /4ERET 44 59 72 131 | RiBH 10 12 12 24| EEAHET 40 53 59 112
e S HT 289 365 369 T34 |ESRIIX 5t 1,604 1895 2067 3,962|REFHT 60 74 74 148|hE 43 38 45 83| 7k RET 30 39 45 84
Fepiulig 72 93 96 189| A 45HT 238 312 338 650 |t [FRET 55 56 74 130| SH B 5t 415 446 497 943| =Y REFHT 55 72 99 171
Byl 273 312 333 645 |/INMINET 203 242 267 509 [ 4E A HT 24 32 30 62 SR LT 48 59 65 124
HEHAT 322 412 447 859|BAL=TH 162 210 195 405| B A e 327 400| 422 822 LB B ET 5 5 6 11
e S AT 12 10 16 26 |/MINETET 106 108 144 252|tIRTET 177 198 227 425 TATHEE 22 29 24 53
ESFH 134 208 203 411 | B FET 274 360 395 755 |#B3k & S HT 204| 251 260 511 Stutbts 5t 934| 1,176] 1,300 2476
EETR 124 183 210 393|BABHETIL/E 44 53 58 111 [FREEHTET 155 199 204 403 =5 51 54 53 107
BEETH 122 196 189 385|BASHETE/ K 25 31 35 66| /R ET 10 16 16 32 e 4 2 3 5
IREIX  § 2202 2879 2,990| 5,869|B8 BEThAT 47 73 68 141 |3 O #r AT 59 90 95 185 R 88 71 95 166
EET1R 48 61 67 128|BA SR TG/ 40 50 55 105 | SR T 168 236 229 465 ZE 32 21 40 61
EET2X 49 55 69 124 |3/ RETHET 36 57 53 10| SEXEMIX 5 1,776 2,286 2443 4729 #w=-QO 19 15 17 32
i pe] =3 44 46 61 107 |BFH S & HT 85 124 124 248 ) 7 7 3 10
EETAX 48 55 63 18| L& SHT 52 64 71 135|E8Kithis & 8916 11,432 11,972| 23404 Bra 1 1 1 2
EET5X 128 175 176 351| F#HSHT 105 146 129 275 HMPREX 28 39 35 74
EET6RX 158 150 180 330| R A HET 175 236 229 465 EOibiE 5t 230| 210 247 457
EE7R 34 50 47 97|HHSAHET 236 288 278 566 Big 241 285 307 592
EETSX 85 85 98 183 | AR SHT 260 328 320 648 B3 79 76 74 150
EETOX 115 113 118 231|dtFx SHET 142 173 183 356 THE 0 0 0 0
EET10K 240 284 326 610(Fa 7k SHET 45 66 62 128 Bigtthis; 5 320| 361 381 742
EET11X 0 0 0 0| SHT 54 100 84 184

EET12K 168 269 256 525|/FLLHIR & 2329 3021| 3088 6,109

EMX 5t 1,117| 1,343 1,461 2,804 & 5 44,560| 55,723| 57,993| 113716
Z) It 5t 4956 6,103 6,558| 12,661




